| Qé\f‘cu’ # A SBSW’HOVISW

3 %057(“1%(54—@, £ = 4x°-ax” , fw=taxt-2vx

V@J\“) | = %’VL(?V"Z‘JB = |Ax R’-"D
/KT / -, MNP S
e 3 o X
ia @9 @,-&)
( ) (3.»"‘?') tnflection W‘lﬁ
37

2.a) of vest > yg)=o —> t= A 8
!o) accel =0 » vyl =0 > t=r S5
c) speed el — VB <o = 24 <8
4% M"fw—n.s "I‘o .S"‘Fc'\!:*h'l; @L LaLe‘“\ area. above t-ajis = area LM‘;’(@L-» O - 7

(o Avmsboed 2D , beaoat
A= () (r-a)= 29~

= a¥-cal ﬂ(é)(ﬂ“@@m)
R— + -~ m'/%‘
~ O G
o X




S. S’(t)*f €t~ﬁ3
) ue) = e,t-—' 3L
H =0 —= €= O
) a(ﬁ) | @t’— ot A e~ 3.F3

G. =g < ‘ l
g. xH-SA+3 , g\»(i«"‘ﬁp’f; C@)ﬁ)

o
S = ax-% L@ =~

2. @<= e 7
FC{? = | e ?‘C?")"” A %L:’YJ+<:2}+<£7( e
o -e® ?(G)z = %
£() = ( . g &)= yaite3bxracx ¢4
= <= > e \
Yoo = ¥ ?@) T 2 E
A §@- 120K GLT rac
= 2 ‘@) = o |
() =et § Q=2 |
@)= ( > JE= rraws @ !
£ - e 50 = @b
£1) = e ﬁ(»@ C o |
9@ = ava
[
1 | | 5
a":; 2 - T P ’/L' ’:
7, b="c , < a d= 0 e=l
<n6fe,'. -f'/q»eé-e_ s @ ‘ffJf?()i?-’f) /,”J ol Y‘e.s/eg“/,w.//>
x 4 .
e e A, A2, A ’
A
6%@ i . [ 4 i ( {
~ PO
240,000 G000 A00 e L= [ 19SS t20%...

Qa[c;wquf@\ Wfﬂ«tﬁi [-los (09 ‘



